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1.

LIBRARY AND INFORMATION SCIENCE
Paper - i

In form of information the hidden
meaning becomes apparent only to
the person for whom the information is
meant. '

(A) Digitised
(B) Disguised
(C) Handwritten
(D) Oral

inciudes facial expressions, eye
movements and gestures etc.

(A) Haptics

(C) Proxemics

(B) Kinesics

(D) Chronemics

. An effect produced as a result of

combination of two or more forces
representing more than their mere
summation is

(A) Information age

(B) Human intellect

(C) Information technology
(D) Synergetic

is undifferentiated observations
of facts in terms of words, numbers,
symbols etc.
(A) Data
(B) Knowledge
(C) Information
(D) Wisdom

1. WRAloll 58 vctRauml AnL A YU
wdl, HIBl Fall HIZ olotlaratnl
Al A B Aal % M T B-
Gueoel AL B,

(A) Slalsxrs

(B) [B¥Rrs cwudd

(C) do5 dleat (sludll cuwda)
(D) 3R (HlMAs)

2. ui Hatel éslaeld,
Uike] sCElAAA Bl BARL -
Ul MHLAL A B,

(A) 35y (B) stFallsu
(C) WsA{ls (D) sRAMSsY

3. A &l ay distdloil ¥Hoct2dl
3 B Anoll §5c Aol ay
Alfal B e Geum SAAUML
UWAd A
(A) BogHatel
(B) Hustcflat off&Hiet (Human

Intellect)
(C) HUIBAL 25ollcl®
(D) Rots?ls meeublal)

4. €], Hull UA Udcllof curlds
UARE [ASlawel 4 © 2
(A) sel
(B) sllot
(C) el

(D) et ([Axsy)
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5.

What is FAST ?

(A) A faceted vocabulary developed by
OCLC

(B) A bibliographic data model
developed by IFLA

(C) Asearch service developed by JISC,
UK

(D) A virtual reference service by
UNESCO
appointed by Ministry
of Education, Government of India
recommended the basic features of the
National library.

(A) Radhakrishnan Commission
(B) Review Committee

(C) Pal Committee

(D) Mehrotra Committee

. Which law of library science imposes

certain obligations on the state ?
(A) First law of library science
(B) Second law of library science
(C) Third law of library science
(D) Fourth law of library science

. Which user education programme was
initiated for under developed countries
by UNESCO ?

(A} UNISIST/PGI
(B) WHAP
(C) LINKS
(D) IPDC

5. 5122 (FAST)g] ® ?

(A) ¥ A At Al gl @sR
yusla sseelslan

(B) 8sctl gl [AsRd cugHayRa
3al 3

(C) % wes VY {-y¥ st
QsRa M A

(D) yolrgl gl lulc{l weurdl
deoldal

. GUR AR Rlatal Houea

G Ml 2ael
53l st Adlal sjauictasll
Haed clal@sdialell el
sl 2l el

(A) RAUEWAl st
(B) Rey 5@

(€) we sMél

(D) NeAx sMA

. daea [Qstote] 53 YA

AAA HER sitlascll W B ?
(A) ducta [@Qstats] yau Yyt
(B) et [@Qsiteta] ofloy Yo
(C) et [@Qsuets] Al Yt
(D) dlauca [@Qsttoto] 08 Yt

. Yolsl gl [@Astvelld Bel W2

gl Guellsdl [Bleel siisuoll
ARl sRatHL vucll ol 2

(A) YRR / Ul » wie
(B) suley AU A

€) dlosu

(D) e l Sl




9.

10.

11.

12.

Who defined a document as “a block
of information confined physically in
mediums, such as letter, report, paper
or book” ?

(A} S. R. Ranganathan
(B) C. A. Cutter

(C) H. P. Luhn

(D) J. Kaiser

Reference sources are those

(A) Arelarge in size

(B) Purpose is to be read continuously
at home

(C) Used to obtain particular
information

(D) Are costly

types of databases usually
offers references to information or data
such as names, address of organizations
and other directory type of data.
(A) Catalogue databases
(B) Referral databases
(C) Bibliographic databases

(D) Reference databases

Mailing list or discussion lists are known
by the name

(A) Listservs

(B) E-Journals
(C) E-Prints
(D} Archives

9. YAula clvulRld 52t 518
walee] B 3 'elllds Ml Bell
5 Us, AUBalE Aut AUl
s A HURAlA A2 5013 B

A) AU WR WletlUot

(
B) Hl A se?
(€) AU Ul ¢sel
(D) % 3R

dedd Bl Ax sdala B ___
(A) sEHl Hl2l a8
(B) ®Bell & U Acld cliuatall
sl B
58 Assu HBA Anaa
HE2 A B

D) wala / Bucdl sla B
11. WA el el usiell dal
Rl ¥ olld, U] U,
ollsi (33527l ustzel 32t deel
A% vudl 32l Axe] altn.
(A) YRsWL (3eclol) 32l
(B) A J2LA%
(€) BlocllaRopdls cllgHayl 32

(D) eel(Rg) Sela»B

10.

(C)

ASADL {lee v Slasst Alze
oltH AAUCHL 4A B ?
(A) cllzeual

(B) &-%olc
(©) 8-[He2u
(D) wslscn

12.
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13.

14.

15.

16.

What is ORCID ?

(A) Access to open-access peer-reviewed
journals

(B) Registry connecting research and
researcher

(C) Connecting network for scientist and
organization

(D) Joint service of CAPEN and Open
Edition

Which of the following is not provided by

web scale discovery services ?

(A) Contents

(C) Discovery

(B) Blog contents
(D) Delivery

Model National Code for inter-library
loan and document supply was first
established in 1983 by

(A) IFLA
(B) CILIP
(C) OCLC
(D) UNESCO

Which one of the following is AGRIS Data
provider in India ?

(A) Central Agricultural University,
Imphal

(B) Punjab Agricultural University,
Ludhiana

(C) Acharya N. G. Ranga Agricultural
University, Hyderabad

(D) Haryana Agricultural University,
Hisar

13.

14.

15.

16.

Bl AR Al 2ue S (ORCID) 9 & ?

(A) ARAY g vluel - vsAx iz -
eys ogelcl

(B) 9| sas2lol Rud Aos RuA?

(C) sasilolazal R WAl Wes
Ul B atet

(D) ez Alld ws 2 A UL S Aot
o5 wlUat WS\ 2let

dol ¥ sl AarAHl {Aauniall
9 Y3 wscuHi wWa & 7

(A) Setet (B) 60l Se2e2
(C) (Bsadl (D) Belladl

UldR Jaca Gruel el  yauw
uglasaal M2 wed Al sls
1983 1l AlyaH Sloll gl @Ula
$oU ML w2l ?

(A) BSCL

(B) flcllu

(C) 3l l A Al

(D) Y28l

AR AHL [ Acuniell Slett g1 A2AU
$et YA wisalMi wa 8 ?

(A) Aozt AoflscRe YRR,
BISLCL

Uentol AaflscA YA aRd],
GEBIET

YR et o 20U Wlscue
YRR, deloue

sRawgu Aflscurd YRaREl,
R

(B)

(C)

(D)




17.

18.
19.

20.

21,

Which of the following options correctly
represents Group — Ill entries of FRBR
model ?

(A) Subject, Object, Matter, Place
(B) Subject, Object, Event, Place

(C) Concept, Object, Event, Place
(D) Concept, Object, Event, Person
The term ‘Seminal Mnemonics’ in 1951
was suggested by

(A) E. C. Richardson

(B) B.I. Palmer and A. J. Wells

(C) H. E. Bliss

(D) S. R. Ranganathan

UDC was initially designed for the
classification of

(A) Books

(B) Bound Volume Journal

(C) Metadata (Bibliographic Records)
(D) Cartographic Documents

If R, = Total Retrieval, R; = Total Retrieved,
then the precision ratio will be

(A) R,nR/R (B) R,n R/R,
(C) R,uR/R, (D) R,V R,/R;
What is a key feature of a “Green Library
Building” ?

(A) Large collection of rare books

(B} Sustainable and environmentally
friendly design

(C) A wide range of electronic databases

(D) Iconic architectural design

17. Qs a2 ofl AR (FRBR) {3ctell
ogel - 3 ofl Doglall oflAotiul sl
Ascla Wl A 2y 28 ?

(A) uoBse, WuBse, A2, WA
(B) uowse, AoAWse, v, AU
(C) se2, AuBs2, 8o, VAU
(D) seie, AoBse, B, Ut

1951 1 '‘Alletet WUEs ue 513
% 53 & ?

(A) 8. dl. RSt

B) oll. . UHR sl . B. ACU
(€) A, . ocllu

(D) V. R, Wlellel

18.

490 A col5RQL W2 AFUAHL Sl
Sudat sl odll

(A) djal

(B) AHRS AL sliRctl AcYH

(C) Nal 32t (clgHAYRA 2818)
(D) aisat yAul

19.

20, %\ R = §¢t Yoi: Y, R, = 5
Yotytad O Qletet 2ol g 62 2
(A) R nR/R (B) R.n R/R;
(C) R, UR/R, (D) R UR/R,
“AMot s AL [leslol el Hecctail
el s & ?

(A) ayr djallell 1l e

21.

(B) 256 val cllcllaRlel Bofgu
Slsteset

(€) sAsgAs daldRell clUsCl

(D) uldsias Rl Slstset
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22.

23.

24.

25.

What is the primary goal of Human

Resource Management ?

(A} Maximizing profits

(B) Achieving work-life balance

(C) Enhancing employee well-being

(D) Optimizing an organization’s human
capital

Library Building expenditure is :
(A) Debit Charges

(B) Recurring Expenditure

(C) Contingency Expenditure
(D) Capital out-lay

Benchmarking, SWOT analysis and
Environmental Scanning activities should
occur continually and consistently in
Library’s strategic planning process to
ensure that

(A) The organization is competitive and
enabled to meet future needs as they
occur

(B) Not to modify or update mission
statements of the organization
periodically

(C)} To keep the library stakeholders
informed about the forward
movement of the organization

(D) To derecognize the faster movement
of technology

Ping command uses which of the following
protocol to test the responsiveness of the
machine ?

(A} HTTP
(B) BOOTP
(C) ICMP
(D) SMTP

22,

23.

24,

25.

Hiolel Attt AU AHeto] WUMs
e g sla B ?

(A) AdURHL AU oS

(B) sdddl Wi et Anaqg
(C) sHULll dgracdl atzdl

(D) el M@ ARHL W3 Histe
BROETEI

JAUEHA eclol HIZoll W A :
(A) Grur wesly
(B) Yolialdd wal

(C) uskAs vzl
(D) 3z wEe-Q

HIUES, 2l YussWL wal vaiazellay
AWM <O ygRAl sfauctell

HOuLslA ool YAt ddd 4
HAoldt A acll AA ¥ Rell

(A) Ul UUlHs 8 BuRid el
ol 3Rl A ul ok,

(B) Arellell Holsallcs Gaoellal
BARaAlR WEGLDal ¥ Wil
s2cll of U3,

(C) Aacuatl GUAlSHIRAA Arelloll
elfQreini stellell ucord saucll astal

(D) 2soltcllyell Aald unansl
VMY Sl

AAeiniell sel VAN oL
5HloSell Gualot Hellotoll B2y
ARl HIZ L2 B,

(A) A, 4. 4. .
(B) o2 Ml

(C) . ol A L,
(D) Azt A, A UL




26.

27.

28.

29.

30.

IPv6 uses bit of addresses.
(A) 64 (B) 8

(C) 32 (D) 128

Which of the following is termed as

Non-reliable Protocol 7
(A) TCP

(B) UDP

(C) SMTP

(D) HTTP

Select the one which is not related to
‘Creative Common License Attribute’.

(A) CC BY-ND

(B) CC BY-NC-5A
(C) CC BY-NP-ND
(D} CC BY-NC-ND

Hathi Trust digital library repository is
administrated by

(A) University of Michigan

(B) Library of Congress

(C) Oxford Union Society Library

(D) IFLA

The characteristic, “value” of Big data is
related to

(A) Size of Data

(B) Type of Data

(C) Speed of Data Processing
(D) Uncertainty of Data

26.

27.

28.

29.

30.

ags. U odls gpve) ___ olle
Guai A 8.

(A) 64 (B) 8

(C) 32 (D) 128

ofl ActiHicl 52 WRrUAU WS
Holl2l 8 ?

(A) .l

(B) ..l

(C) A, An. AL L
(D) A, & &L L

BRI ot clladad AloR WA
€l otell A AsR ue 5.

(A) tall cuat - Aet s

(B) Al ouat - ot Al - AU A
©) Al euat - Ast L - Aet 81
) Wl ouat - Aot AL - Aot S

slell 2 dweat cugddl SLofledle]
2l Ut Sloll slRL WA & ?

(A) YRaRE s RAsllotet
(B) ABAIL s SN

(C) laiss yYPae Auadl sl
(D) ©5€CU

oflot 3atell "yer clalRlsdt
doilld B.

(A) 3daiq] 5€

(B) 3atsll UsR

(C) 32l uBaell assu

D) 3delell AR AA




»

31.

32.

33.

34.

Which part of the QR code represents
the encoded data ?

(A) Three positioning element
(B) Data element
(C) Location

(D) Programme for reading

Which of the following term best
describes non probability sampling ?

(A) Subjective
(B) Objective
(C) Random
(D) Systematic

The reference management too! called
Mendeley is developed by

(A) Springer
(B) Thomson Reuters
(C) Elsevier

(B) American Chemical Society

In historical research, the evaluation
carried out to test the authenticity of the

source document is referredtoas
(A) Internal evaluation

(B) External evaluation

(C) Literary evaluation

(D) Secondary evaluation

31.

32.

33.

34.

& R slsell sl eUdt AoAS3s
Jeit eoiad & ? |

(A) ol QAatellor AN e
(B) 3aL Aoz

(C) cldatet

(D) o st Aot

ool YA Aucllo agletd
GriH UE 59 B ?

(A) doRsdld
(B) Aewsdla
(C) RwsU

(D) flNels

YURE eel AWAHoA GUSL (2520
A% o2 get) S @Qselld 5 2

(A) floo?

(B) llidiet 3220

(C) YAz

(D) wNRse 3Mse Qauzdl
AlslRs Asuotti Bl yQuwell

QadRadiusital s2am s
HEliSatla 313 A B,

(A} UidRs yealiset

(B) Gll&l HEUiSa

(C) Wllus yeuiso
(D) B saus] yeuisot



35.

36.

37.

38.

39.

The phrase “Focus group” is associated
with
(A) Questionnaire (B) Sampling

(C) Interviews (D) Observations

Which of the following types of archives are
responsible for preserving government
records and documents ?

(A) Corporate archives
(B) Personal archives
(C) National archives

(D} University archives

Which of the following is called “dark
archive” ?

(A) LOCKSS

(B) CLOCKSS

(C) PORTICO

(D) Pub Med

Which region of the world is most closely

associated with the concept of “Oriental
Libraries” ?

(A) North America
(B) South America
(C) Europe

(D) Asia

What is the primary purpose of a patent
information system ?

(A} To grant patents to inventors

(B) To provide information about patent
attorneys

(C) Tofacilitate the exchange of patented
technologies

(D) To educate the public about
intellectual property

35.

36.

37.

38.

39.

Blsu u ue Aoll WA Aol B ?
(A) ysuacl (B) otysil
(C) Heusld (D) RAdlaw

ol ActiHioll 52U USIRelL E5ctR QLSIR
(Archive) 42513l 28§ ual YUAWlsll

80 HIZ FURER B ?

(A) slale €5%clR GiSIR

(B) cEdld €£5cAR GLSIR
(C) fla £5clR GiSIR

(D) Qaufdanctal €%d lstR

ol Al Hiell Sla 'St vusisa’
sdcllHl A 8 ?

(A) cls™

(B) S5

(C) Wlsl

(D) U RS

"ylw@l JJaUlEl" (Oriental Libraries) of|

Rotcott 0 Qasll s Yt Wul
a5l AsnAcl © ?

(A) Gri2 WARsL
(B) el@lal URRsL
(C) YA

(D) A(Aau

Qeoe 1B A ugldalyneddq 487
(A) usclal Asc(U2oe) &55 Ul
(B) Asacl es5oll adletoll Bl uudl.

(C) st gs5oll cAsellsell WLELsL-
YElelal UlRUSal wUG,

(D) 32 otcua olllgs duel QA
QA s2at.
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40. Which institution in India has taken over
the work of digitizing collection of Netaji
Subhas Chandra Bose and Sardar
Patel's papers ?

(A) Raja Rammohan Roy Library
Foundation (RRRLF)

(B) National Digital Library of India
(NDLI)

(C) National Archive of India
(D) National Virtual Library of India

41. Following were the recommendations of
the National Task Force on Information
Technology and Software development
in May 1988.

i. Government shall launch operation
knowledge

ii. Modernisation of school! libraries

lii. Setup of Indian Institute of Information
Technology

iv. Setting up of Library Network
Codes :

(A) iandii are correct

(B) ii and iii are correct

(C) iandiii are correct

(D) ii and iv are correct

40. GHRAML 58 el WA Ao

YPUUUK 6l U ARER UBCtoll
Qullal Slyect 52 Aae aud B 2

(A) RAA AHHEARIA AA ASYI]
$1God 2ol (RRRLF)

(B) Aot Slect ctsSQdl 2w
8l 4L (NDLI)

(C) olalstet usisscl s sy
(D) Qe et cgQ?) s skl

M. HEcll 25400 WA A2 A2
Saduiee Hi2oll 20ndlar 213

A ~ Neccatl yudl oA
ool .

i URSR VU At silol’ ofl 28U
59\,

il 2uou deucst YRS sl

iii. Bl Sadleye Ay Bosilolet
esollclell & Usll

iv. i A2ade(l e,
8ls:

(A) (i) ot (i) Wl B,

(B) (i) ol (i) ALl B,

(C) (i) et (iii) il B,

(D) (ii) ol (iv) il .

T
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42. Elfreda A. Chatman identifies following

diffusion models :
i. Elements of diffusion model

ii. Attribution of innovation model

ili. Stages of Adoption model

jv. Stock adjustment model

v. Vintage model

Codes :

(A) i, il and iii are correct

(C) iii, iv and v are correct

(D) i, iii and iv are correct

43. Arrange the following components of

Lasswell’'s model in a proper logical
order.

i. Who

ii. What effect

iii. Which channel
iv. Whom

v. What

Codes :
(A) i v i v i
(B) ii i i iv v

(©) i ii ii v v

Dy v i iv i i

42,

43,

AUEESt A AeRet A oA Yool
Slsyset M3c el sLa2u

i, Al s Slgyxet HIBA
i, Adleyacialls Belldelet HI3A
i o uls VSl H3A

V. ¥y AswreRoe HIZH

V. ofle2e W3

81s:

(A) (i) (i) 2 (i) AL B.

(B) (i) (i) 2a (iv) 2l B,
(C) (i) (iv) el (v) WAL B.
(D) (i) (iii) 4al (iv) WUl B.

Ardey 3dal ua@Md
[Qeuola 2o cisls sHul alsadl

i. sl8L

ji. 9 WU
iii. 5¢ Aotct
iv. slal

v. 9
8ls:
(A) i v i iv i
(B) iiiii i iv v
(C) i ii iii v v

(D) v i iv i i




44. According to the Delivery of Books and
Newspapers Act in india, which of the

following entities are required to send
copies of their publications to libraries ?

i. Publishers ii. Authors
iii. Printers iv. Editors
Codes :

(A) iand ii are correct

(B) ii and iii are correct
(C) ii and iv are correct
(D) iand iii are correct

45. John Bekker a leading authority on ethics
in librarianship has suggested following
principles for designing a code :

i. Librarians should undergo regular
training.

ii. Librarians should strive to improve
libraries and library services.

iii. Librarians should exercise their best
professional judgement on behalf of
users.

iv. Should take recommendations for
selection of books from the teaching
faculties only.

Codes :

(A} iandii are correct
(B) ii and iii are correct
(C) i and iii are correct

(D) ii and iv are correct

44. URdHL Jel el AU

YA u@R2AH 2ot ol Dotaisl
58l dfaulERA Axell Ysialollell siscl
Hiscalloll %32 2 B 7

i yslast i. Ausl
iii. Yasl iv. Auwes
sls:

(A) i ol i WU B.
(B) i ol i AU B,
(C) i Aol iv WAL &
(D) i ol i AU D,

45. SRl @AMl uR el

Qe wflet AS2 gl sl (51s) A

d2uR s2al 12 ol Aot Rtaid

YAk HL weul B

L daudA RaPdud drcldll
stels il 2w

ii. JAUULEAA A W djelE
Aol Yugu 12 yastele
&4.

li. Jaudldl Guelsciullal wajciella
Axell caay@s el ¢aleca.

iv. oL @etel (Qeudt drsedl yitd g
Yellal wlloiul @e dfellell
wleoll sdl.

sls:

(A) i 3ol i wAL B,
(B) i Al i UL B,
(C) i dad i AU B
(D) i Aol iv 1L B,




46. Which of the following facts are applicable | 46. Eclls (IASLIC) W2 o Aomiell 9

to IASLIC ? AW uUS B ?
i. Is a non-profit making organization. i. A @A aigisRs Hsa 8.
ii. Shri J. Saha was the first president i, 8l 9. ULeL Aol YU YW &dll,
of the association.
iii. Initially it was started as a wing of iii. A3HL BBt A3
Indian Library Association. AA{ Attt As e Asll
a3l U8 &l
iv. Headquarter is at Kolkata. iv. SlAsTUHL dof Yual Has B.
Codes : sls:
(A) i and ii are correct (A) i oL ii URU B,
(B) ii and iii are correct (B) il oL i AL 8.
(C) iand iv are correct (C) i el iv A B
(D) ii and iv are correct (D) i Vol iv AU 8.

47. Generic criteria for evaluation of intemet | 47. o202 AULUUR A A Alell HeRlisat

based resources includes : HRell cuus YsiRL

i. Rl ofl ol

i. URL appropriateness

ii. Audience i eusl

iii. Purpose iii. &cf

iv. Timeliness iv. AHRSA
Codes : sls:
(A) iand ii are correct (A) | el i WA B
(B) ii and i are correct (B) ii oL iii WA B
(C) i and iii are correct (C) | oL i AW B

(D) i e v W B

(D) iand iv are correct




”

48.

49,

Subject gateways are :

i. Sites that provides searchable and
browsable catalogues of Internet
based resources.

ii. Focuses on a related set of subject
areas.

iii. They are developed only by the
librarians.

iv. Convey a variety of information
from meetings, announcements,
parent news, curriculum overview
and displays.

Codes :

(A) iandii are correct
(B) ii and iii are correct
(C) iii and iv are correct

(D) iand iv are correct

Which of the following is applicable to the
15" edition of Encyclopedia Britannica ?

I. Contains 12 volumes of micropedia
ii. Contains 13 volumes of micropedia
iii. Contains one volume of propedia
iv. Published from UK

Codes :

(A) iandii are correct
(B) iand iii are correct
(C) ii and iii are correct

(D) ii and iv are correct

48. UA%se d2A da sdal:

i. Sl WHRd Al

el Asla A WGy 53] usta
Al weSeu

i, (™ol Ao A48 R
Ylonct Sl B.

lii. A $5ct dleuel st @sdiccuni
ud ]

v. QR ysteell R 2 B
B HIZloL, B2, HId dean
UHRAUR, UISASH UL WA
YEelat

8lS:

(A) i el ii AL B

(B} i ol iii UL &

(C) il wat iv UL B

(D) i ol v &

49. o\ Aeyuiell 52 [Asey WatA2AsARL 1
[atellsioll 1wl wuga cd) ud B.
L HESUSIatl 92 dleyH U B.
fi. HEHUSIAeAl 13 ey uAQ B,
fii. NASlule] 1 cleyH A B,
iv. Y5l ysi@d az .

sls:

(A) i ol i AL D
(B) i wal i e &
(C) i e i UL B
(D) i Ao iv AU D




50. Which of the following communication
channels are used frequently in virtual

reference service ?

i. Bulletin board

ii. Instant messaging
iii. RSS

iv. Voice over IP

Codes :

(A) iand ii are correct
(B) ii and iii are correct
(C) ii and iv are correct

(D) iii and iv are correct

51. Which of the following web scale
discovery services were launched in
20107

i. OCLC world cat local
ii. Serials solutions summon
iii. EbSco discovery services

iv. Ex Libris primo central

Codes :
(A) iand ii are correct
(B) ii and iii are correct

(C) iii and iv are correct

(D) iand iv are correct

50. o{lActHiell 58 yclel Aolcd
el 2eel AaHl dlRaR

GuAHl Qal B ?

i. ojAdlet 61§

ii. gotzee NARIOL

iii. VIR, A} A,

iv. QS aaR e L.

8ls:

(A) i el i WAL B.

(B) ii o\ iii AL BD.
(C) i val iv AR B,
(D) iii Ba iv AU B.

51. o{lAouniell 56 Aw WBet Slsail
Aclt 2090 ML AR sl el

i, fl At Al acdde cdisd
ii. RIlAA AU UM

iii. Nedl Slasadl AldR

iv. AsA — Aol Y1l A

8ls:

(A) i ual i Ul 8.

(B) i vl il UL B,
(C) i A iv WU B.
(D) i weal iv IR B,




”

52. Who among the following are associated

53.

with established theories of reference
service ?

i. C. M. Winchell
fi. James |. Wyer
iii. Daniel Brophy

iv. Samuel Rothstein

Codes :

(A) iandii are correct
(B) ii and iv are correct
(C) iii and iv are correct

(D) i andiii are correct

Identify the principles for the
implementation of the canon of helpful
sequence.

i. Principle of spatial contiguity
ii. Principle of increasing literary
warrant

iii. Principle of modulation

iv. Principle of enumeration

Codes :
(A) iandii are correct
(B) ii and iii are correct

(C) i and iii are correct

(D) ii and iv are correct

52. oflAcuniell Sl deol Aauot eule
Reuidl wd Asad ® 7

i AL AN A
i, LA UL, cl2AR
i. 3oflatet algl

iv. A1 Aeulet

81s:

(A) i Aol ii WAL B,
(B) i e iv i D,
(C) i A iv AU B,
(D) i wa i W B.

53. ol Asiniell A ReuidA WD
Aelell B Belol A SCUSA Mol
UHASRQ wRerzd] B,

. [Qolluct 2l Wact Sldlozdl

il. [Jorlluct s so5loflol @229
ARe

iii. Reluct s QsyAalat
v. Qolluct wlls Aoyudatel

sls:

(A) i ol i MUl B,
(B) i wal iii MLw B,
(C) i 2l i L D,
(D) i val iv AU B,




54. Which of the following is/are correct

55.

in context of Simple Knowledge
Organization System (SKOS) ?

i. It is data model for classification
system

ii. Itis data model for subject heading
system

iii. Itis data model for federated search
system

iv. It is data model for reference
management system
Codes :

(A) iandii are correct
(B) ii and iii are correct
(C) iii and iv are correct
(D) Only iv is correct

Which of the following is/are true in
context of Colon Classification (CC)
(6™ ed. rep.) ?

i. In CC, new subject can not be
accommodate

ii. InCC, S, can not be added without S,

iii. In CC, subject device can not added
as and when needed

iv. In CC, Wall-picture principle can not
be used for personality isolate

(A) iand ii are correct
(B) ii and iii are correct
(C) Only ii is correct
(D) Only iv is correct

54.

55.

Rruet Qe AU Ratot e
(SKOS) aii deelul ollAotniell 53

AY B ?
i, aolls2el utald we 32t Hide
aa B,
i Qwa Hauot urrld w2 3l W3

aa 8.
ji. ¥sd2s A urafd w2 dat M3
A B.

iv. eel cacranust ueld 12 321 3¢
RET:Y

815:

(A) i vlel i WA B,
(B) i ua\ il UL B.
(C) i Al iv A B.
(D) &5l iv Uy B.

Slcast scullB3aets (998l wglq,
Yol: Yal) ol Aeelml ol Aouniell
suAL B ?

i, Bltel sclfldaeHl stau Q0
atde s astdl 2l

ii. Sletot sclAlBaaAHl S, A S,
Aotz GRA sl o1l

iii. Sictot sculgBacl Qv Yl
osplf wA waAR wIRAA Hwe
GRA astc ol

iv. Sl sclllBaetil calddet
HutsHl el (Aet-UsuR)
Rtaida Gualol adl ot

(A) i el i WA B.

(B) ii o i AU B,

(C) 5c i WY D.

(D) &5l iv WY B.



o

56.

57.

58.

Identify from the following the features of
tacit knowledge.

i. Resides in human mind
ii. Cannot be articulated
iii. Tangible

iv. Easily accessible

Codes :

(A) iandii are correct
(B) ii and iii are correct
(C) iii and iv are correct
(D) iand iv are correct

Collection development principles are
given by

i. C. A. Cutter

ii. Melvil Dewey

li. S. R. Ranganathan
iv. B. 8. Kesavan

Codes :

(A) iandii are correct
(B) ii and iii are correct
(C) iii and iv are correct
(D) i and iii are correct

Transmission media are usually
categorized as

L. Guided

ii. Unguided

fii. Fixed

iv. Unfixed
Codes :
(A) iand ii are correct
(B) ii and iii are correct
(C) iii and iv are correct
(D) ii and iv are correct

56.

57.

58.

el stiotell @l ol Aewaiell
el s1al.

i et HRA2s0{l 2ie? 23 B,
ii. @ ot 53 aAstd,
il 2uel 531 astal A
iv. udcudell Uit as sl Ad.

sls:
(A) | ol i UL B,
(B) i weal jii WU B,
(C) i wat iv AL B,
(D) iual iv g 8.
‘Ao [@Asi ol Reuidl Slet izt
AL HRALeY] ?
i Al A s2R

i. Necdld syes
il VA, IR, 22LellsUet

iv. ofl. R Badte

sls:

(A) i ua i WAL B,

(B) i o i AL B,

(C) i Wl iv AU B,

(D) i ual i A B,

UHloAAd: YAREBL (2leuBLatat)
MU ARflolg sRaAUMIHA

i. auesds
i, WeA2UETIS

iii. $las

iv. lotglas

sls:

(A) | ol i AW B,
(B) i L jii AR B,
(C) i ua iv AU D

(D) ii vl iv AL B



59. Which of the following is/are correct in
context of ‘Multiplexing’ ?

i. It is a process of transmission of
information from single sources into
a single signal

ii. Itis a process of transmission of
information from more than one
sources into a single signal

iii. It transmit information over a shared
medium

iv. It transmit information over a
distributed medium

Codes :

(A) iand ii are correct
(B) ii and iii are correct
(C) iii and iv are correct

(D) i and iv are correct

60. Virtual reality is described as an
experience which encompasses
senses such as :

i. Sight
ii. Touch
iii. Feeling
iv. Smeli

Codes :

{(A) iand ii are correct
(B) ii and iii are correct
(C) iii and iv are correct

(D) ii and iv are correct

59. ‘Ul @slor ot 2ieelni ol Aswadell
sl [Ascu aul 8.

i MR Aot A5 BcHiell As Asdni

yala acellufau 3.

i, WRdlou Asell ay Alcduiel As
Wt YR acusll ylsau B,

iil. o HRAA euolletdl :raml
yulRd 52 8.
iv. A HBAA Qadld el

yAulRd 52 8.
ﬂs:

(A) i Blal i AU B

(B) ii e i U B
(C) i o iv WA B
(D) i ual ivU B

60. el ardlsdl slauoua

Aol vojeicd agd & Bl 3:
i afR

ii, 2usl

i, cwell

iv. ol

8ls:

(A) i Wal i AU B

(B) ii wla i AU B

(C) i vl v ULUL B

(D) i weal iv AU B
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61. Which of the following search engine

62.

is/are using Al technology while searching

query ?
i. Semantic scholar
ii. Rediff search

iii. Altavista search

iv. Dimensions

Codes :
(A) i, ii, iii are correct
(B) i, i, iv are correct

(C) ii and iii are correct

(D) iand iv are correct

Which of the following are NOT

open-source [LS software ?
i. LibSys and AUTOLIB
ii. ABCD and Emiida
iii. PHP My Library and Koha

iv. NewGenLib and Virtua ILS

Codes :

(A) iand ii are correct
(B) Only iis correct
(C) ii and iii are correct

(D) Only ivis correct

61. ollAsttniell seu U Aot /90H
g:llet WiEFlollact SR clloyortoll
Gulol 52 8.

i ANEls WAR
ii. 285 el
iii. weetfleel allu
iv. SlNelod

sls:

(A) i, ii, iii Ul D
(B) i, ii, iv UL &
(C) i el iii WAL D
(D) i wal iv U &

62. oflAouHi s2ul ¥ Uet Al 2016 A
A AseAR otl?
L ol wa WAl
ii. AG[R{SE wua RRes!
iil. Ul Ay Ul wat calsQd R Slsl

iv. o Bot cllol Ul cful ue

e WY
515:

(A) Tl il B
(B) Wioti Yy B
(C) ii el il i B
(D) Wt iv Yy B

*



63.

64.

Which of the following are stands in O,
library ?

i. Open content and open source
software

ii. Open standard and open
knowledge

iii. Open content and open knowledge
iv. Open source software and open

standard

Codes :

(A) iandii are correct
(B) ii and iii are correct
(C} iii and iv are correct

(D) iv and i are correct

Which of the following Integrated Library
Management Software (ILMS) are
non-Indic origin ?
i. LIBSYS
ii. Evergreen
iii. SALIM
iv. Virtua ILS
Codes :
(A) iand ii are correct
(B) ii and iv are correct

(C) i, iii and iv are correct

63. o{lAotnidll s O cUSAI WA
Aot YRAA § ?
i. WlUst So2o2 Vol WUl
A ws2aA

ii. WUt 2lals§ wal lUal A

jii. VU Sozod Vol WUl A

iv. AuUet QA As2A? Wal vllUol
Rlals$

sls:
(A) i vial i WAL &
(B) ii el i UL B
(C) i Vol iv U B
(D) iv Al i UL B

64. U@ 53 83125 S
Aoz WRAR (ILMS) HAeyct dld

elcdla o2l ?
i. Qolla

il. Actrflet

iii. Ucltu

v, cl2eful S A A
51S:

(A) Tl i AU B

(B) i wal iv AL B

(C) i, iii v iv AU B

(D) iii and iv are correct (D) iii ol iv L B



EE
65. Which of the following is/are free/open
source Anti-plagiarism software ?
i. reddit
ii. OSPC
iif. Litmap

iv. Quetext

Codes :

(A) i, ii, iit and iv are correct
(B) i, iii and ii are correct
(C) ii, iii and iv are correct

(D) i, ii and iv are correct

66. Bradford’s law

i. Explains scattering of articles of a

specific subject in different journals
ii. Demonstrates author’s productivity
iii. Calculates impact factor

iv. Enables to prepare rank list of

journals

Codes :

(A) i and ii are correct

(B) ii and iii are correct
(C) iand iv are correct

(D) ii and iv are correct

65. o{lAotiHioll sall Sl /30 Uol A
el - B W52A2 B ?

i. Wle

i, 20 Wy L AL

iii. cflenu

v. 53282

5ls:
(A) i, i, iii wal iv HLUL D
(B) i, iii el if Wl B
(C) i, dii A iv uLUL D

(D) i, ii WA iv LA &

66. Assléall slaLEl 8.

i @Qu wHRSHL A0
Quile] cdet

ii. Quslell Geaulescllal REalet 53¢

iii. wARsRs WRnel 2l sl

iv. RSN 5@s adl @u?
53| gallac

Q.S:
(A) i e i AL B
(B) ii ol iii ALl &

(C) i Wal iv UL B

(D) i vl iv L B




67. Hypothesis is

i. Statement of the problem

ii. Statement of guess about the

research results

iii. Statement of conclusion of
research

iv. Statement to be tested

Codes :

(A) i and ii are correct
(B) ii and iii are correct
(C) iandiii are correct

(D) ii and iv are correct

68. Which of the following are common
components of the Agriculture library

and Information system ?
i. Seed catalog
ii. Soil analysis tools
iii. Weather monitoring stations

iv. Agricultural databases

Codes :

(A) ii and iii are correct
(B) iand iv are correct
(C) i and ii are correct

(D} ii and iv are correct

67. GscUoll (sl AAA) 8.

i. UHRAL [t
ii. dglluet URRUH (A UsjHial
s (et

iii. dgUttetoll AlRB0e] [QAtitat
iv. uflaw (usael) @A @Quet

s1s:
(A) i wlal i AL B
(B) i o il WA B
(C) i oL iii AW B
(D) i Vol iv U B

68. 5@ djauct ua HBA uslat
ol Astiniall s2u UL BN B,

i ofler 32l

ii. aflol Yyeaswl Alkledl
iii. ScllMlol TURVL eUetS
iv. 5 3zl

sls:

(A) i e i UL D
(B) i Wl iv UL B
(C) i ol ii 2L B
(D) ii At iv U B



.

69. What role does a corporate library and
information system play in organizational
decision-making ?

i. Providing access to up-to-date
market research
ii. Offering guidance on corporate social
responsibility initiatives
iii. Facilitating knowledge sharing
among employees

iv. Managing the company’s financial
assets

Codes:

(A} ii and iii are correct
(B) iand iv are correct
(C) i and iii are correct

(D) ii and iv are correct

70. Which of the following are the key
components of a Health science library
and Information system ?

i. Medical databases
ii. Fiction novels
iii. Patient care services

iv. Health education programs

Codes :
(A) iand iv are correct
(B) i and iii are correct

(C} ii and iv are correct

(D) ii and iii are correct

69. Ueusla Fela AQawl o sjsucta
U HIBA uald st5 gst ewd B 7

L. olon3 AelUetoll Welctet
(Bl vuucl
ii. S1URe Wead Rall{lellclél
A3 5l H2of Holedlal uUg
iii. 3 AU sllotall BULELA-YE Lt

Glegat wlug.
iv. Suslotl stiguglal B dle] catazenyot

8ls:

(A) i W i ULAUL Y.
(B) i wal iv Al 8.
(C) i wal i A B,
(D) i Al iv AULUL B,

70. R [@Asitet s wa Rl
UglAetl Yyl decll sl sl B ?

i ASlsA Sty

ii. slacsaull (lsalet - ol Ac)

iii. £ €Al URYUN (R3oe ¥2) Acizdl
iv. o2 [Raal siisyl

sls:

(A) | el iv AU B.
(B) i ol i 2L B,
(C) i WA iv MU B,
(D) i o i WAL B,




71.

72.

Arrange the following ancient libraries in

order of their origin.
i. Library of Ashurbanipal
ii. Library of Celsus
iii. Library of Pergamum
iv. Villa of the Papyri Library
Codes :
(A) i v
B) i @i iv i
(C) iv i il
(D) ii i v i

Arrange the following Library Science
Journals in the order of their first year of

publication.

i. IASLIC Bulletin

ii. Annals of Library and Information
Studies

iii. SRELS journal of library management

iv. ILA Bulletin

Codes :

(Ay @i Qv
(B) iv i iii i
(C) i i v

Oy i i i v

71. o{lActl wAflet djsuctall Aol 213lcdetl

SHHL Jlscll -
i LS Al wWeRoilelluc

A Ay AU

i, QI s udUHH

. [dew 205w Qwadl cug@l
sls:

(A i ivoii

<

B) i i iv i
©) v i G
O) i i v i

72. Jjaucta vl HiRl @sustatl

UHRAA AMetl yauH ysi@d adet
sH Huol dlsdl.

i. wUSells oAdlat

ji. Wollcy v USAI Wos Bogilalel
228l

iii. G woled s AUSYI] AoloyNo

iv. A At A ¢ALlot
sls:

(A) i i v

B) iv i i i

(©) i Qi v i

(D) Wi Qi i v
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73.

74.

75.

Arrange the following networks
chronologically in an ascending form
according to their year of establishment.

i. INFLIBNET i. DELNET
fiii. BLAISE iv. JANET
Codes :

(A) i v i i
(B) iii iv i i

(Cy i i v
(D) iii v 1 i
Arrange the following user tasks in

a proper logical sequence of steps
identified in FRBR.

i. Obtain

ii. Find

iii. Select

iv. |dentify
Codes :

(A) it i i v
(B) ii iv i i
(C) i i v
(D) iii v i i
Arrange the following according to library
work flow.

i. Processing

ii. Ordering

iii. Dissemination
iv. Selection
Codes :

(A) 1§ il v
(B iv @i i il
(C) iii i i v
(D) iv i i i

73.

74,

75.

ol Aell Aeasdlal Axell eltustiel

ctletl AeclHl UBAL sHML dUs L
i. Ses@uale i. dcdae
iii. oSN iv. ofale
8ls:
(A) i iv il i
(B) ii v i i
(©) i i iv i
O) i v i i
olActtHiell Guellsdlell stilal VsuuR
ofl. 2R, (FRBR) H clcialdMi AU
Al¥s suHl sHo& dsdl.
i. Aoaq
ii. gllug
iii. udE §q
iv. A
51s:
(A i i i v
(B) i v i i
(C) i i v i
(D) i v i
sjaca st yele yosol olAsita
olsdl :
i ulza
ii. wEal
i, YAUR
iv. waieofl
DY

(A) i il il v
B) iv il i il
(€) i i i v
D) iv i i i




76. Arrange the programming language in an

ascending form according to their year of
development.

i. PASCAL i. PHP
iii. Fortron iv. Perl
Codes :

(A) @i i v i
B) i i i v
(C) iv i i i
(D) ii i i v
. Arrange the following library software in

a ascending order according to their year
of launching.

i. PHP My Library
ii. ABCD

iii. Koha

iv. NewGenLib
Codes :

(A) i i v i
B8) i di i v
(C) i i i v
(D) i v i i

. ldentify the correct chronological sequence
of the origin of following metrics.

i. Informetrics
ii. Bibliometrics
iii. Altmetrics
iv. Webometrics

Codes :

(A) i i i v
B) i i i v
(C) i @i i v
(D) i i v il

76. Qou{lol ol cumzlal Aot @sRc

oot WU USAL sHH] 208l

i uiRse i. YLAudl
iii. $lglot iv. uel
QS:

(A) Qi i v i
B) i i i v
©) iv i i i
(D) i i 1 v

. olAcll cSAI] AsedA Aol @2

scllHL A aYotl 2P ASAL
sHUL olsdl

i Ul J casadl
i. A oll

iii. slsl

iv. oRetelled

sls:

(A i i v i

B) ii i i v

(C) iii i i v

(D) i v i i

. o{lAedl Hust uglQoll MU SISHA

M{UNEE

i, 855

i, ofloc{lRANEsu
iii. wenlsu

iv. Aelldgdlsu
sls:

(A i i i v
B) i i i v
C) i i i v

D) i 1 v i




Eﬁ
79. Arrange in sequence of the following
Public Libraries according to their year
of origin.
i. Baroda Central Library
ii. Connemara Public Library
iii. Trivandrum Public Library

iv. Delhi Public Library

Codes :

(A) @i B0 v
B) i i i v
) iv i i i
(D) & v i i

80. Arrange in sequence of the following
phases of disaster planning according

to the guidelines/principles of IFLA.

i. Preparedness
ii. Prevention

iii. Recovery

iv. Response
Codes :

(A) iv i i
By i i i v
(C) ii i v i
D) i 0 v i

79. o(l Aol 932 AU Anell 2euuelt

oll o yaud suui ollsdll.

i aSle Jodlal djauc

ii. SlelHIRL 2182 dJALAHA
iii. A Aenn A3 dlauca
iv. (Bcdl %32 dauea

sls:

(Ay i i i v
By i i i v
(C) iv i i i
(b) i v Qi i

80. vscioll wsENs Use/clcAUlUstedl

nole Qs Rgidlati ogei-yel
dotssiallal sHolg s,
i, daudl
ii. weslag
i, Yol Ullcd
iv. ylalsau
5S¢
(A) iv b il il
B®) i i @i v
(C) i i v
D) i i v i



”

81.

82.

Statement ~ | : Copyright is a form of
intellectual property law.

Statement - Il : Not all types of work can
be copyrighted.

Codes :

(A) Both Statement—I| and Statement -
are correct

(B) Both Statement— 1 and Statement —il
are incorrect

(C) Statement - | is correct but
Statement — |l is incorrect

(D) Statement — | is incorrect but
Statement - Il is correct

Statement ~ | : Every book in a library
should have a chance of finding its
appropriate reader.

Statement —Il : Introduce an arrangement
in which books have a chance of catching
the attention of reader.

Codes :

(A) Both Statement—1and Statement—1I
are correct

(B} Both Statement—1and Statement—|I
are incorrect

(C) Statement — | is correct but

Statement - |l is incorrect

(D) Statement ~ | is incorrect but
Statement — Il is correct

81.

82.

@Qutet 1 : AAdlse A olllEs

HUEL (B2 @5yt Nudl)

slAEloll As oL B,

[Qtatot 11 : HH USLReU 11 S1U1R1E52
e ASAl o,

8ls:

(A) oia [Qullat (e 11wl B,

(B) ol [Qtulet | Al 11 Wlal 8.

(C) Rlaet | 1Y & e [Autetn
MERY

(D) [@uuot 1 g & uq [Qeutst il
Uy B,

(AQuust | : dauca Ml R!¥A €28 Yrls
ol Aol 2l clus Hodl R,

(Qtutet 11: Yels ol clUSe] tailot

Wall 93 Q dealni Aol dlsagll stell
RS A,

sls:
(A) Giol [Qtet 1o 11 i B.

(B) ool [Atulat | At 11 Vel B,

(C) [Quet 1 WY & ud Qruat 11
wig B,

(D) [@Qtuot 1A & U [Qtutstil
UY B,



o

83.

84.

85.

Assertion (A): Primarylsources provide
most authentic information.

Reason (R) : Primary sources are
highly unorganized as far as access is
concerned.

Codes :

(A) Both (A) and (R) are true and (R} is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is false but (R) is true

(D)} Both (A) and (R) are false

Assertion (A) : Web 2.0 has wholly

wiped out the digital divide, particularly

with regard to individual’s ability, access
to and engagement with technology.

Reason (R) : Use of Web 2.0 in teaching
and learning is still in an embryonic state.

Codes :

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A)is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : Metadata Object
Description Schema (MODS) is a
standard that are maintained by MARC
standard office of Library of Congress.

Reason (R) : MODS uses language-

based tags rather numeric ones.

Codes :

(A) (A) is true but (R} is false

(B) (R) is true but (A} is false

(C) Both (A) and (R) are true and (R} is
the correct explanation of (A)

(D) Both (A) and (R) are true but (R) is

83.

84.

85.

not the correct explanation of {A)

soot (A) ytalls Bld Yo

R HUEA 2 B,

51200 (R):- WM s Bldl dedl yiiiaa

AN B Ul Yl A wrddEle

a2t B,

sls:

(A) Gl (A) ol (R) AU B Aal
(R) (A)oll ai2ll dmer 20 &,

(B) WA (A) ual (R) AA B U
(R)A (A)ofl AL ues it o2l

(C) (A) g & Ud (R) U 8.
(D) o (A) AU (R) vilel .
530 (A): AW 2.0 A Slwee
Slaugssa ypiud wecl stid .
IR 53l cA 50t BlHcll,

AsAA 5ol Aldetl HSIQAA. .
51RQL (R) : Rlatal el @uatHl Aot

2.001l GUlloL &% Ul waMs
UM B,

8lS:

(A) iR (A) wal (R) UL B
(B) ®a& (A) ual (R) vilal 8.
(C) (AYUR & URg (R)WE &
(D) (AW B Ud (R) Y B

5ol (A): Naldel vlu®se Sldlralet
B HL(MODS) YMIRIe|cl Hietdl R AR

S S AeAl 1S 2Lo5§ G Sl
[Aells sl 20 B.

512QL(R): 30,5 U (MODS) 25515121 2010
ole@ AUNLBUIR A 22lell GUoL 52D,

sls:

(A) (AU B Uq (R B

(B) (R)ULY B URG(A) Wg B

(C} wa (A) Al (R) URUL B A
(R)A (A)olt Al uno 10 B,

(D) oA (A) Aal (R) UL B U

(R (A)ofl AL w4 Bitu wiell.




86.

87.

88.

Assertion (A) : Total quality in
organization usually depends upon the
skill and competency of library staff.

Reason (R) : Quality management is an
information-based management system
where professional education alone
helps the employee to take decisions
judiciously.

Codes :

(A) Both (A} and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true but (R} is false

(D) (A) is false but (R) is true

Assertion (A) : TCP is called a reliable

delivery protocol.

Reason (R) : TCP makes sure that
whatever is sent by the sending machines
is received intact by the destination.

Codes :

(A) Both (A) and (R} are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : Artificial Intelligence (Al)
has the potential to revolutionize user
service through the use of ChatGPT.
Reason (R) : ChatGPT is a state-of-
the-art language model developed by
OpenAl that can understand and respond
to human language, making it a valuable
tool for automating user support tasks.

Codes :

(A) (A)is true and (R) is false
(B) (A) is false and (R) is true
(C) Both (A) and (R) are true

(D) Both (A) and (R} are false

86.

87.

88.

solot (A) : deauell Aysl dLLaru
AL e sHatle(l sandl
ol UHLH S AL WR Rt 8l B.
SREL(R) : 9jRLeltil el Uet 3 MUl

U d cicRaucugd 8. FHl s1iadlA
HIE $5cl calclBls @latgL o Aua Uyl

Relal Aeuni HEE 52 B.

sls:

(A) (A) e (R) ol WAL B
(B) (A) wal (R)oia Wlel B

(C) (A) WY B ug (R) W& &
(D) (A)ullg & ud (R) -y &
suat (A) : AU A Quuela

Relladl wasla 8.
sRRL (R) : Al A dellet siRt

WscaHl aadl e ygiud
Aetl A 220 ugld Aol AsWe
as5l 53 B.

sls:

(A) (A) ual (R) oial LU B

(B) (A) ua (R) ola W2l &

(C) (A) w3 B U (R)Wig &

(D) (A)Wlg B U (R) Y B

sal (A) : 2E§llad S cllorerinl
Guellscll Acudul A2y U0l Guallal
5313 Geslld cllaao(l sl &.

50 (R) : A2pUldl A As wildol
iyl HId3A & % WUt 3l wes (Al)
a2l Qs sadl wic] & 5 2
Hopwiofl A X B Al yldeta
wlal Guellsdietl Aaudla siala
wA@d srd Bucdl audt B.
8ls:

(A) (A) (Y & wal (R) Wi B

(B) (A)Wg & ual (R) w3y B

(C) (A) ua (R) oia AUl B

(D) (A) ol (R) ol vllai B




i

89.

90.

Consider the following statements
regarding Altmetrics indicators.

Assertion (A) : Altmetrics track other
measures such as views and downloads

of the original article along with citation.
Reason (R) : Because of the increasing
importance of altmetrics, Altmetrics has
replaced the citation as an indicator of
measuring impact in many disciplines.
Codes :

(A) (A)is true but (R) is false

(B) (R} is true but (A) is false

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

Statement — | : The British Library is a
very young as it was set up under the
British Library Act that was passed in
1972.

Statement - Il : The library of the British
Museum which was set up in 1753 is part
of the British Library today.

In the above statements :
(A) Both | and Il are true
(B) Both | and I} are false

(C) lis true and Il is false

(D) lis false and |l is true

89.

90.

WeRNEls Yusloll deell Ao
Qucllal 22 53

52Ust (A) : HOQct UsLAetal B2cl
ASRA A, Jecll ASA SIGacLs

5 A GURi detl Yo Grurl
(AUS2201) A weeNdls 25 53 B,

5RQL(R) : U2 NEls6ll UdtRAAL dticyal
5120, wAZE B2t uecla
uRU ([Qn2llell AU HAA B.

8ls:

(A) (A) WY B udd (R) Wlg B.
(B) (R) W] B ud (A) W& .
(C) (A) ual (R) ol Ul &

(D) (A) ua (R) oiad el B

[@euet - 1 : @l cAsAAA wWeldeat 58
asd ¥ QAU il AURERUHSA
vcold 1Ml wuaHl 2udl.

[@Quist - 1l : @22l Ban csd
LIWIHL e scumi 2wl %

sl ([@8lal cuQAl As ol B.

GURell (Aol :-
(A) 1 3l 1l olal AL D

B) I ual Il olal W2l B
(C) | WY B wal I WE B
(D) 1Vl & ual Il WY B




*

91. Match the following and select the
correct answer from the codes given

below.

List -1 List~1I
i. Newcomb’s Model a. 1956
ii. Lasswell's Model b. 1954

ii. George Gerbner's Model c¢. 1948
iv. The Schramm’s Model d. 1953

Codes :
S R | B | [ \%
(A b d a ¢
B d ¢ a b
Cy ¢ a b d
(Dy ¢ d b a

92. Match the following and select the correct
answer from the codes given below.

List —1 List -1l

i. Baroda Library a. 1933
Association

ii. Andhra Desa Library b. 1914
Association

iii. Bengal Library c. 1910
Association

iv. Indian Library d. 1927
Association

Codes :
i i il v

(A) b d a ¢

B b ¢ d a

() ¢ b d a

(D) ¢ d b a

91. o{lActt [QAsEllal BSL A {lA e2lAcl
slsHigfl MR Gk wrie 52

€l -1 atgl-n
i oy Lo H3c a. 1eus
ii. claed Hde b. 1euy
iii. o2l ololot] W3 C. 1e¥¢
iv. sl HIde d. 1eu3
8ls:

i 0 i v
(A) b d a ¢
B d ¢ a b
C ¢ a b d
D)y ¢ d b a

92. (1ol [Asclla %1S) ua (1A e allac
slsHil AN Gl ye 53l

ael -1 L€l =i

i GRLSL A3 a. ¢33
RN (O ENEIE

i, Uiy A ASAI b, ey
N[O EREIE

iii. cloud csail c. €10
VAR 2Lt

iv. 83 g3l d. 9¢RY
AW @ADLt

81Ss:
[T | I | | I\

(A) b d a ¢

B b ¢ d a

C ¢ b d a

@ ¢c d b a




o

93. Match the following and select the correct | 93. ollAatl [AsEllal AL ual oftA eldet

answer from the codes given below. slsHiell A Gk ue 53
List—| List— Il JIEE agl-n
i. ASLIB Journal a. Science direct i, WAL ol a. Ul SIS
of Information UG BogH o
Management RolorNo2
ii. DOAJ b. Emerald ii. Sl A @ b. AnRes
iii. Thomson c. Web of science ii. ZHRUoL c. Aot s Ao
Reuters e
iv. Elsevier d. Open access iv. Acuclar d. dlUst WA
journals ol GRL
Codes : 8ls:
i i dil v i i i v
(A) d ¢ b a (A) d ¢ b a
B b d ¢ a B b d ¢ a
C) a d ¢ b C) a d ¢ b
D ¢ d a b D) ¢ d a b

94. Match the following and select the correct | 94. o{lstt QsElA 98 uA oA g2l

answer from the codes given below. sloriell A Gz e 53
List — | List— I 2Ll -1 ALl -1
i. UNESCO a. 1971 i. Y8l (UNESCO)  a. 169t
ii. UNISIST b. 1964 ii. YR (UNISIST)  b. 1esY
iii. UGC c. 1946 iii. 3 % ¥l (UGC) C. 16¥S
iv. IAEA d. 1956 iv. 288 A ¢ W (IAEA) d. 1eUs
Codes : 8\S:
o0 i v i i v
A) ¢ d b a (A) ¢ d b a
B) ¢ a b d By ¢ a b d
(C) d b ¢ a C)y d b ¢ a
D) ¢ a d b D) ¢ a d b




i

95.

96.

Match the foilowing CCF Tag and Data
element.
List—1 List—H
CCF Tag Data element

a. 200 i. Name of Person(s)

b. 300 ii. Place and
Publisher

c. 400 ili. Title and Statement
of Responsibility

d. 500 iv. Note

Codes :

(A) a—i, b—ii, c—iii,d—iv
(B) a—iii,b—i, c—iv,d—ii
(C) a—ii,b—i, c—ii, d—iv
(D) a—ii, b—iii,c—i, d—iv

Match the following and select the correct
answer from the codes given below.

List - | List -

John Cotton
Dana

i. Classical School a.

i. Xand Y Theory b. Peter Drucker

iii. Newark Charging ¢. Henry Fayol
System
iv. MBO d. Douglas
McGregor
Codes :
i i i v
(A b d a ¢
B c¢c b a d
(C)y ¢ d a b
(D) a d ¢ b

95.

96.

o1 eafldct dlallAs 2ol wa 32l
(iAo Sl

el -1 el -n

AAflAs 201 32l A2

a. 200 i, AH s Udet

b. 300 ii. WAy Aos uocllatz

c. ¥00 iii. 2lfed Wb
w2 AUls
adelelleldl

d. 400 iv. o2

815:

(A) a—i, b—ii, c—iii,d—iv
(B) a—iii, b—i, c—iv, d—ii
(C) a—iil,b—i, c—ii, d—iv
(D) a—ii, b—ii,c—i, d—iv

ol At [@sedla 1S ua o[1A eeldel

Slsuiell MA Gz urle 52U
ALEL -1 AN |

i, SAU@SA /A a. w8lot Blaat Slall

ii. Xua Y ladl

iii. Aald alFdl
Rrex

iv. A ol 2

b. Yle? $5?
c. 3l ¥

d. SOl AgIoIR

sls:

———
oY)
S
[V o T o B & B




-

97.

98.

In the URL http://www.gujaratset.gov.in,
match the following.

List—1 List— Il
a. Sub-level domain i. http
b. Protocol ii. www
¢. Host name iii. gujaratset
d. Name of Server iv. gov.in

Codes :

(A) a~iv, b—i, c~iii,d —ii

(B) a—iv,b—i, c—ii, d—iii

(C) a—i,b—iv, ¢c—ii, d—ii

(D) a—-i, b—ii,¢c~—iii, d—iv

Match the following and select the correct
answer from the codes given below.

List -1 List - i

i. Khudabaksha a. Mumbai
Oriental Library

fi. Connemara Public b. London
Library

iii. British Museum c. Tanjore
Library

iv. Asiatic Society d. Chennai
Library

Codes :
i 0 i v

(A) ¢ a d b

B ¢ d b a

) ¢ a b d

D) d ¢ a b

97.

98.

o{lAoil [AsEla A3\,
YuRAA (URL) 1l AU :// seicy

SUEY SUER.I%2AARR P ullcll. ol

ALl -1 2EL =N
a. ¥ol-Ade RErDIEIEI|
Sl a
b. Y25l ii. SUCYSGLERYSHERY
C. 8k AL . IAWRAANL
d. g Ay iv. B} 8ot
udr
sls:
(A) a—iv, b—i, c—iii, d —ii

(B) a—iv,b—i, c—ii, d —iii
(C) a-i,b-iv, c—ii, d—iii
(D) a—i, b—ii,c—iii, d—iv
o(lAott (A5 RS WA (A g2ddcu
sloniell A Gz e 53
atel - | L€l - I

i. velog AARARA  a. yoles
ASQL

ii. SlelHIR Uoells b. ¢sel
ASAL

iii. (@dlal 1yoflant C. cdi%l?
Al Q3

iv. slRlandls Qadl d Aques
A3

sls:
i i Wi v
(A) ¢ a d b
B ¢ d b a
C ¢ a b d
D) d ¢ a b



99. Match the following and select the correct
answer from the codes given below.
List—1 List—1i
i. Boot virus a. Self encrypted
virus designed
to avoid detection
by a scanner

ii. Macro virus b. Malware

iii. File virus c. Infects the boot
sector of floppy
disks or the
master boot
record

iv. Polymorphic  d. Virus that spread

virus in application
software

Codes :

i i HE v

A) d a b ¢
B) ¢ d b a
(C) ¢ d a b
(Dy d ¢ a b

100. Match the following and select the correct
answer from the codes given below.

List -~ | List -l

i. Statistical a. S.R.Ranganathan
Bibliography

ii. Librametrics b. V. V. Nalimo
iii. Bibliometrics ¢. E. W. Hulme
iv. Scientometrics d. Allen Pritchard
Codes :

i i i v
(A) b a d ¢
B ¢ a d b
(C) a ¢ d b
(Dy d ¢ a b

99. olAcAl [AscdA %S WA (A e2iAcl
slsHiell A Gl urie s

€] -1
Lol gy a.

ii. AslcleSA b.
ii. Sl c.
alegf ™

iv. Qe gls d.

clefY,
sls:
i 0 i
(A) d a b
(B ¢ d b
C) ¢ d a
(D) d ¢ a

A€l =N
¥yol? Gl
BLOULAL A2 sleLell
H2 SloteSat seuml
UlAd s

WHSs AU,
HIAAR

% AUl Slesell
oeldeiol uuR 52

8. WUl HRER o
2518 wuR 52 B,

el Belot
Alg2 AU yalRe
cLef U,

100. {10l [Ascqat ML wA (1A eafdcu
slsniell A Gz uale 53

ALE] -1 A€l =1
i RAEsct a. ARVl

@oc{laondl
i. QaAdlst b, L Leaicllil
iii. (loclalAdlsu c. 6. .s01e).6H
iv. ARSI d. Actet Q118
8lS:

i i i Iv
(A) b a d ¢
B) ¢ a d b
(Cy a ¢ d b
M) d ¢ a b
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Space for Rough Work



